www.wikiazmoon.ir

wikiAzmoon

wikiiazmoon.ir

www.wikiazmoon.ir



211A

211

‘;.D‘g}lé .ol.i
slaol Jexo

) 0 low 4> 530

A0 Tuwwo
Re/¥/\e

Ozl (ol (5, 50
2918 5 Sladed sl 5155
2558 Pise) o Olejle

&

Dglien TNl Cslon 39 Zdlol o Bl LS

(0)) GM-? ,ol.o'

1R Sl g g SOl (599 39 (S gl gomit g gt 3T

=090 (3531

S Pl im0 )T 09 F

2@&9‘& OJM

:;o‘,ﬂé ,al.i 9 ‘eU

FEFCRR N R REPUE W PRLIR VY

Voo 1 I Slows

Sl Do g YT 0 o 1S (3 325 Pl (iilo 3T 09 5 (0908 (03T (Hlorio! go (Igas

5wl Goe | o)l G| oyleds 31| Jlgw olows Siliol 8lgo G,
4B \A Yo ) Yo B olosl g ol \
PV-FERY O O Ys Yo ook ¥
aido\Y Vo )] Yo bl Bylro g 2,5 | ¥
ai oY Yoo vs Yo eSSy | f

B0 1B O o il ailiio ) g Moo Jme Glojlu it 3970 L6 (B gh g Sk PR (Soled 5132 9o 3T 315 2 3 o WM WS g0l §




Y axio (211A) (090 ) o )b Lol g (b
Tl ouls 358 (ay 35 plaS 10 iy W () aad (gab cdpai (b)) (solg Cawyd Sl

A i s 35 (L St e (Y
3l sz 5l (o5 lade ¢ oUlgs il TS 5 (Y

iz G ez o 5l e SG g0 Qe Ryl o Sas S (F

el e..\.oT Caw yo uT J:l.o.n Silos ) o)|3 > ‘5.:.0

({2555 Gl 1oy dag5119) (Cbno 1095h) ((rihidl ot ) (30 o0 plos &y 395 Ly 45 unn GauslS 2 )
( Slo 35 :0.30) (bl 37 olo 1jg05) (w9 e § (silodeo 1aouds) (43l 1) (15 14055) (Joko g oilo yd 105 giw)
cue (F cas (¥ o (Y & (

f ! Caw yo lolo ojlg 3l 09,5 plas S

(5ol : Jlogs) (@l a3e) (o 10id ) o 4l : ash)) ()

(Lo il 1 o53) « (ool 55 3950 £552) (b nmo) (58 & S50 (o 1) (¥

(oj)f 9 Alwd :CLJ) (el yo 61.>) a(Q‘j)Lf &) :6‘)‘)) (Koo > )) 4

(oS 590 LD W) e iz £55) (e 2ind) (F

flawl balé g5 wlylis 5o dols Wiz bl

»

S el wlo g ol ko 1) Wolrw

€ abl aho yio g e Caud 2 JoT Olie gy (A5 Jole 50 4z 51.09) WLl 53k

Sz (F aw (Y 90 (¥ S5 ()

Zo90 N1 iy Sy g Aol olF yp g 3410 Hlg5 1y Sho Wlado g wbl JBLE La )15 CBlge 31 a5 Cuwl ] Sglo y5jaler e 4o
ol pe! (a3 5l 99,135 Jooxs 1) blisl g o3>

Tl ol blé wis €09 ouwilw,

Sz (F s (¥ 9o (¥ <5 ()

gy ol o oolldi

filodgs @dg0

asladle o anghine (gaiin aal Dllio @ llgSs s @l Sl ()

aal Slolie ((ggiin o 36 dlleSo i Slidls  dnglaie (Y

Aol Blo (gl aomos i el Olalie @leSls wilaile s anghas (¥

Slasle ganghaie o olw  aomoe @l Olals i a5l ‘cubu_eu (f

fadolas’ Cad 5 A «Blhlaly ( wdb Jo5 cgamw y50 ol y <6 iy (ylg9 0 & i L61 ul.o.l}e

L....'l.vs 3......4‘;79_; wjb L)‘“"ﬁ)') Sgoro — ‘SﬁL‘L»S (Y é"‘"”j ‘)Lw}‘ 4.:) QJ“U""lA Ja‘ (S (\
Mlﬁ_)usla)ull_lpmmlflll,o 6)“(\‘ Lubg - ‘5,@1‘u~uk}4|_@l&5 ¥
RUGLIV 25U JR )bl HB iy w ol SO f by g «oll pud» c«).Q.w ,.> Ol «Olgol gails» ulSMy

OS5 550 slags T el O

KNCEg 456;}9_ ald S an g0 - ata> _ blgs (V

o g Ko - DgiS o Bgile LIS ol o aas (Y

_ o)‘jluchojs.'oLo_w)Lv‘B‘l—ofu‘sw_m_u}wjub (f

Tl ouwl 4y 35 plas 50 (ALS = Judei' e = (Wl = goodi = ploal) !yl cdilo Jhas 51 5 Olol Cawyd cud 5

s i 331 183 (shous Sz A5 1y kg 51 019,05 e > 51 30 (i

Cowl ooz 995 4 (Sro mod S 5 4ol Slodygloln o8 g gz 3 il & (w0 (o
Vb a gl g9y T (&S Slowd G5 5 5,lo S—L8 5195 JU (2

ol gt | po (ST o o2 o5 S ol by ol (2 31 o299 JO !

SIS o S 45 JU ol po L 5938 3 ool i b 05 ol 2 (b
z-o-c-Al_a(f Soc-gp-Aloa (Y z-o-=2-c-dl (¥ Sop_zoc-@l(
] w33 e Caw gl 4 olol gaod blio slaasl,yl

(o o eyl Slel) pled 3 05 o, 55 33 g Rl ] o 4y 25 ()
(pleal o lanl) 155, Gade S0 Wl e 5 G ORI F ]| N K VS VP C S |

(Al 5 4t S oo 5 ol (sbss o o 108 il D 9 (5 025 (A5 OleS g3, (¥
(d‘).C‘ ‘QLAJ) LS)LQ) ‘»AJOA 5 g > A ![ Ai)s)w WJ‘UJ‘&_ADLC@|W4A FLg |96M)9> (‘:

Cogibion Clly (o10l laaslyT pIaS Cold 358 9z Rl Er L s%e ol gy 32 &)t HsS S a5

aolre Cglul cplysl ¢ a8l uliz LS (Y o laiul plool al uliz S ()

o el ol lel o o @l ulis clolee wolul (F el pleal uladl Clel o (ol ol cais (Y
Do o0 CBL «1,35) Jad ob 9 ATy J2d 0B e, Caw gl & Olol san o

sle oan B aiglas T, Sl e (59, 9,1 9,8 sl ()

5bauls Fo cdae 4 cd, sl as ol oSl e azl pae Sl Ko (V

T e S S gy it sl s ol 5l e 57 S (F

oslenh el s ol w5 lo g od) amil 4 a4z o O jes (F

-1

Y

-F

-0

_‘o

-1

-y



(211A)

¥ oami

(090 ) oy Oludl g b

SBALu3l g pouwy g ST & plhe I cawl @ylie g wbcdpd po ple jI cowl glasLi “5.»1;.&0.595 lg; plae wilo» wyle o
3,15 0929 03lg Wiz 9 31850 Wiy o i &y €03l o0 HICDT 1) g8 (4 (o sbias g p98 SO
TRy ey (F Jkz gty b (F gugwicir sk V Jkz g o cdn g ey O

) sWelly plw o

9 oS o Fikn 00lw (03lg Wi oy A (AbgRw LU pw oBETog3 0 (idy (keSS (S Lolowe cgles 9o

9° s)LQ? ‘)LQD GOO)L (f D 0d (‘ﬂ

M‘Mc

%)lo .3993 us).o W

99 dw (A A (Y 4..»5)'.@‘? WA (i (\

& g ol uda) (gl amuF o»l.wol “a|)| ss_fv.ww\a):‘s.o d¢5 b g W) 0 Jx).:) 1y ouddus ‘sasf‘hbs_i’),lbu.w» wlyle
flaw! plas’ cod wab‘slmldbpl flwl dlos ao «(gloolyil wl s> ‘\bf@’fl.buu).ugl.ﬂbo)absuwdrm

Jyrie 2 1,35 5> Sz - Lk O
s

L (S5 99 I Sy gs o Jorio 4 )35 (G52 ipeto 00 )35 S5 aw oy (V

o I (35299 )ISL (S5 g0 - Jorio 42 1,35 Sy 4w - miy (F

) 03,10 9929 (BLSl g Loy oS )i Wi i 4 ) e 9

oS Cawl (2 Hglob boasay ;50 g Widgmgo sdod w9l ol tewnl JFogla ka4 gl (5030 W lowd 2l garlllao Ho»
0l g ool 50 il g0 i of Ul 5 (p20lad (Glaedg s 50 4 Lo (selaiz ago iyl Wonyay ol 4 yé ool

o — oo (F oo (Y

lo))oo}._’.rab

P AGI gl\
WX Lo o 53 0y dool))

3 3l 098 s anls

bl gl oty ey
Aol e ol 51 (Ss e
S b ol &)l_f )

«5,13 0319 0yl

& oo (Y S - 003k ()
Fiam! glasio Wlol S0 b Caw pluS pogie
O S 4 S5 lisd) e ()
Cod S S lal S Lo a5 (Y

S b u-*-*-‘P)L')u u;‘J;u(\‘
) s 4l Sy uLQ? ] (F
» Pyt

G435 52 4 iy 35 (saad b el (igm SO eyl T b g

59 97 '-\539)-.;—.’ ;,‘) e ()
JB 5255 J——ol o5 oz (V
olsl slpsas Jol joa S, a (Y
55 Ol der 4 358 85 0 (F

@swwu.Qs}QJSdwgs.owl)‘ss).e;wuby&s)b&yu‘ow»b:)ula’w

Sjgm So—Sle g Jie (0,5
o)jlo)_f oal) PRI P—
Sral, B pnoe s
uﬁ)‘)b ol...u)_»..\_m)_u

?.))l.»G.og.é,a.owlﬁw,alafb«ww‘s)uﬂfbufﬂ

RY 6)‘0456¢9_>)A_9)_7‘
o 5 Sl
|°°|) u%—’ﬁﬁ) 5w-°-°6°~*~’

19‘\ .)‘L“ ") f

2,18 (5 yidi wb-' g 1S L iy I oz il 4 ki

Al Az g 50 ool

Sl S 4;55 9 )")\) L)L') oQ‘}lS
Swdng—5 HBel;T as sls Ol
Ol 9, o @ Qe e

3, (Sogdo cawld’ Cam plaS L €S0 ,5 (185 (92 §r9me ol 3 iy

dol 0l ded (a0 ¢ a5 Jood LS
25l ole yoo 92 0Dy5 00 4 o5 (o2
a5 a3 Jo 5l p o a5 25
Wl5 e A S glaie el o0

Fogul o0d Cdly jo S pluS 31 €39 (ylase S o,
oﬁ)_s\d,_sln\_fbulw(\
o)9| S ol o, sl > (¥
W‘J%P““U@;w) (¥
oo ) 0 sSa—— o s (F

olws plle 90 slag;,» 1o

udﬁ?le_Cjo)_QC)..\_Je.)o O

el 5y Es 2 S s 50 o (V

poLi 13 053 (S48 Sl's S n BB (V

wlwwm)'ljsé;dlaf (f

S UMWWU»WP}W

09— — 5 s—= 31 O

&S pobre &5 G g g Grge 50 (T

S5l Slogee (S S g 4 (F

Bl 05 a5, a8 (58 (Sall (F

830 (nl 33 O Grgme g9y LA Cu

Sl 92 g U3 g yeo el (95T e 5 ()

S (PSooe Sunrgd (S35l (o o 4z STV

oo B g dy b jgr0 (S (F

52580k @l peim S &S Compal yo (F

Tl LSS Cop p1aS L« gigos 10 ;R0 030 Commai 095 oudS | bl (psw (198 Caw 50 €58 )5 pobdo

S a8, 05, 3l eas; g
Sl pliggy 700 (o5 2 45 5
0SS 35 B b Joo CaS 3> 4 )

JoapeSal sae i ()
5 S a4 5 (7
Elows 0,5 S o oLl—a 51 (Y
ol 0055 0,5 s pas I Ladl> (F

-y

-\f

-0

18

-1y

-\A

-1

_Yo

-

-yy

-y



f axio (211A)

(o90€ ) oy Oluol g b

Medsr ol L 0,5 oly S
55 2 xS B Ll (e o 98 5
pded 4 g wile Jie & pasay o5 hled
= 5l ey 5 2l
Sl 00l8 dx> aRalo (ol jo aF Cuailys
(@) be ylim o2 g colis yiin oo

] plas € oy b)) (313 10,8 a5 105w g Loy (B3

i 1o (2lro gldd ;0uso L Can g9 plas
swaulba sl 8 ﬁl_uo Gei—e ()
008G Lo 5 (olse (pe g el Al Be
ol S @ Jo a5 5 5l pog o (V
Sl S5 o 9 )
o 355 o0 e 05— 1) o5 (F
oo Qo g o Jo S

Sl oanis clls it 3— > L_ols (F

Al jp—o Sl e (555 slb]

) Mo P g
sol b3 (Sl 1y 98 J o (0l 390! 59
b3 59, 50 ol Olsl 2 Ak 5 wsled ()

G950 Saloy 5 Jlo oS (sl (KibdS095 51 (Y

Ol ol 0 D3 5 58 S (sl 0k D6 (Y

-YF

-Yo



5 amiio (211A) st b3
(P¥ =YY asedad S cuad J\Z-Aaﬂiap‘i\ga&.\‘i\‘g@.a}’\ (s HE
ot sl S ALY e aalinand ) Aluab Jga #) il p¥ 5 el Unew Gl »

los3 )5 (s (6 yidin G009 p 1) (Lol ol jole cdad 5 50 1) (el gl s (52 ()

o205 (329405 e § yidon 095w 2 |y bl ot jolo el ay ol 1) i ol ) (85 (F

loadged (3255 yidis (s3gm Jb |y (Ul 0205 (355 j0le (6530 9550 50 1 lpelis 8055 oS ol (¥

lopdg0d (i oy 51 et Ol 2 1 QT ol G265 jole (550 (galim |y 1yad (ol (loodg o 457 olSST (£

el dgh AL Y g ) (s lad Y Cudl) ag (AN Jaly sl o g »

105,05 B )] s g 0iS sod ad,lae LsT b oo a8 al G138 Jal 4 aul Lo SCss ()

103 )5 S T 50 g 0t e il oo b a5 Lpilam ol 518 s ol Lo Saine (¥

s ST ] 0 @5 5 aiiS o caillie o b 4 45 aiten Ll dr ¢ odgzm Siaed 3 ol 4 o5 casleys (7
oS o

O o 1, S @ g oS e adye Lialed lp |y o0 4 45 puad Juste ol8 o diald o3l & b Lo (¢
laiiS oo ke

rl by g 106 g i W e Y g W) b Le g ecplaY) g Jlally AL S »

ledS S5l ) mlsg (nl 193 L 595l aSl )0 ¢ (35 (o0 jl508l 095 (3558 5 b 2 o 4z a2 ()

oo 8l Glaigyd g Jle 4 lasd a5 cl aigSs> (Y
S anlys

Ll Sz 18 b 10,8 o5 sits pladnog b T &Sl Jb 5 (g Boe 58 o0lsils o Jlo bl 4igke (¥
1o )5 aetlys S 5 1,

15,8 s b 15,8 a5 i lelel Ll aSUle o oS oo shigyd ;58 Slodlgils 5 Jlo come cde ax 4 (&
S wlgs S 51 L L

ol &5 Conl a5 5l (oo DS oS Cand (K5 tlAainia Wl ASs o (esall G ) WY ()
lails oo oo

Lol oo slots Calin sl 015 1) o S leae) ol sl miilin (e psalliall dlall el (v

oS oo 5 148 el 530z 0 LE 3> 5 3 A La ) RN e (1

1oSe Jsb oS cgmd 55 LT sl 3 a8 1, slacuail 2labae @18 Y o3 ) J Y ¢

logd o 938! POy e 4o iiime AiS S )5 1) ol S ye 1 ull) die dfiae ) G awall & 5 e ()

g o Jsiden 500 s 41 iy oo |y 095 Jlosl o a8 o8 ilo gt cumy iy Alleel e yoan ¥ (e (Y

Sy3 il OSes slalles WS Gageld |y 055 sllas o5 o8 sllahe () e Ba) ATild (i ga (Y
logd oo

ISl sl pope oln o ckinain b5 o S ye ol de adic L3 13 pacad sl A SE 0 €

'é}w‘go 6.»5!5

-1

-y

YA

¥4



§ aivo (211A) s b3
sial i ¥ G Bl sad (e aliel dany cud G ) >

15 il ud (o | J8 sl Gan 3 35 i oo Line L (Y

opoalil 5y b lleny A 550l 8 Ban) i Y (Y

1 jadll sl o sal aley Jros e s il plac g

lafie e L LA Gaad) aldll L) Ll o) ¢

el (g g0 sl el T s 35 BT gl K5 45 (5108, 55 Al 3 4 9556 LT »
! OaidU () Sl iy ol 2l Juand) (gl O Alldll o2 ) a0
Lasill ¢ pagll i 5a Jaand) olid e o5 3 Allisall o3n ) i S o (v
Ll (5 Sl sy 58 Alsead) s g2 51 O Al o3¢ (91 Y S8 v
1D Sl iy el i e 51 2 lladll o3 e o) I S U e
Iy cdemw oly (o &5 (ootd (o0 69,5 (b 1) 0T (B3 (Jg ol ¢ ($9) L (e oy 4T dwy (o Dl 4 SLET H0 »
tlglodgom &9 pw
e g ol (oolall Caadd ol seiaie ¢ glad Lavie 5 cbmaa By yh clald (55 I 3 ()
o s Aniad 35 Gl Cragh 2y pramy o plallelld &gl Gl g clonaaliy pla an) 8l ol g o2l 3 (Y
wiakad U ) el Uiyl ol 1l oy ddadl i (v
g o Gl 13 i pue Ol agdi Allgdl 8 5 eie 5lath clils 8 L Uiyl 4n) 5 Jlac¥) sl i ¢
ol by Ly (67 — ¥) AL ce qual 25 Ay ) Gall 18
Qo LS plall b il S ) s puliion ¥ sgd 14cdil lee B Gl clils) qael e sl cgsic
plal Ale ML Y i gy oSUal Ly A 3D Bgal g (008 OlSa giaay asid cellandl)
B o) S s sy e g 5 g Al
Gl 5 4e o) G0 A5 L AR A jur g Anae iy 40 J3 s sgly 4y My i el e Dlead) S
VAl dland) S Cman Y1 (il of A a0 g 5 sagly
raal) (e
Ny Lgainy 520 ey L gy 35 coSliall (0
Ll s Ll Gy of 5 CsSial G g il 13a (Y
! s e Ly Calidy il oLl CSlial o3 Lelaxins 3 3 all (¥
Lol (3 ) cpamn V) i o — Sl e — a1 LY ¢

replall el a1 b L

ol ) Sl ey L (Y A ) Sl J3a e O
) e syl el L Lk (6 L3 S Y Led (v
S elall o ) Adiaa dy Ao Sy o Cpiall o g Vi

1 ¥ i (Y Lol b e o) sqdl il ()
lie o 4 Ul (¢ Lol s Js Y i (F

-\

-YY

Y

-r¢

-Yo

¥



Y axio (211A) & b
Solall dda LY 5 guay Al (o Of CigaSind) o Gy 3L

15 4ty by S o b Y s (v ity of S Y S 4 0
o] il el sell 48 Jan Y a6 Loy 5 4 p2gs oLl Y (1

(P4 5 FA) Jesdil b sl e W
«LQJJSULSA&MA.I?JMJMY\Mtéﬁw‘uﬁu\m‘ UMSJY\W@MYJA »

t\:.a_e)sa_;w\_&_\\d.d\ﬁ uls.a d\.m‘}’\_u\AA\ um.a(\
;;)s_qu“\J\_dw_gw\(z ﬁ)s.’ dam uas.u C_\L.m(v

<<W&Jhmdam;\3@hmub~u.\au\ﬂ$ul.\.AUAaJ\JJSu»
w m’).L._ _‘_;.w(\' d;q.»_ _Z;.w_g_a\fs\(\
MJ).L_;\}QJ‘ L%Aé_g_al_\:«(i &L\:t:.l_k_l\‘}d\_c_lt_\.n A_JA,J\(Y

(8Y — £4) Bual ol gl oY) & maal) (e B

il »

il «sa» e aleld 5 g shye Jad [ aglaall ae — S — Jamdi Gl e (DB 330 — il
4l dlaal)

e e el 5 g gbge Jab [ oagladll ae — e — Jali Qb e s B3l DB e (V
4lad dlaal)

s pan aleld 5 dad [ e — asball e — elias 5 mmia — (U 250 — g jliae Jad (Y
s 5 dded dlaall

S @ e Alels il 5 Jub [ e — Jseadll e — Sl — nea — Gl g Lo (¢
a5 4ded dlaal)

:«Jﬁ»

aeldy g sdye Jad [ Cme — elias 5 mmia — Jaad Qb 0 (OB e — A g jlias Jad ()
pda A 5 A0lad dlaal) 5 «@laally

dad [ asleall Jie — a3¥ — Cielias o mesia — a8 Qb e g 3ol (OB 3 — AL (Y
Alad Alaall g «@llanlly aleld 5 g 58

«et» paa Aleld 5 Jad [ asbeall e — M — Jedi b aaly s sabye (OB ne (F
Adla 5 Alxd dlaad) 5 ¢ il

«ily jpem lels 5 Jab [ Cme — agdeall e — a3V Cieliae — blaall o (ale Jab

Agled Aleal) 5 ¢ sl

=Yy

-YA

¥4

—fe

-£)



A axivo (211A) o o
tebla »

5 Sl Ciaie 548 Jgria [ B paie — e — ALEYL e — s ()

e 54y Jsmbe [ BLEYL (Wjee — Aghie dm 5 (3iia — Ciall Al an (¥
5ol (et 5 43 Jsmie [ ALY e — dals — gl dlu gen — o (1
seie 5 43 Jsnie [ b jamia — Coya  Aghie dhiay (Bidie — Cuigall Jll wan (¢

(00 — ¢¥) A0 ALY co ol sad B uuliad e

: A8 i) (g siaad) 4 e e

o 5ih ol a5 e o sels saba b llin (¥ 1IAY) o )Sa s il 55 of e (8
PR R W AT UPS IRV A gl sl 625 U8 Lty 303 o 30 0 (¥
17y s 4ie i V) oo o oets ¥ i i 45, B e ()
!;U&J\M\;@é&:\gjsﬁﬁ\M\;g%u}é‘muwjmhwjgg—eﬁ

1Y sk Jlall Gas o palin ¥ 43 alay sed ela e a1 e e Y pelliall ased) (v
Lol Y rbiny Jls f e 4l cadie 55 513 08 () 5w A ce iy o i) ¢
1S« U

1algal) (ye 4l ath o askainy Y e e aaiad Y ()

el ot Lebany 5 Lo yiny (e o jlailly oy L) (v

LA s 4o 55 8 G o ) b dendl L i L (¥

Ll el 138 dasly b 5% 0 OS5 gl gl 5 uadl Canla

033 Jas b ol ) e

1Sl e Jggae ESTAUae] 5 dne iy dles o ()

Pop AY) G la il dlle l<al ol culs o) (Y

telils Cudie claday el Camaal 65 ) (F

il e (s yn S 3 e Lo (s

tale) ad) ) glisg awd e

(Cagea Uilaial 230 575all aSintialis s liddae J (3

Qe )5 of 3 Y B0 Y) a0 Y palad] Y (¥

(O (i 3 (SIS pad Jaal (v

LaSile (golaiel Jluia a5 e a0 Jasi Y At A3 oSibael 5 8

-8y

-ty

—&¢

-0

—-£1

-ty



q amio (211A)

& ob)

5 il A1 oda el o) sa o 8 BLY (v
ot il ol G 48 i pla g LS Y Lad g6

13N 8 uilide (DD Sl e (v
Mgt daaill JEaYI 3 lald 8 28 oS o (¢

LMt ) ) adlals sloal (pagall g ol (Y
talleel b Ui S o301 ) il 5 35 o ¢

e & My e

Lilgial (1% zladl e Jeand Y el alel (3
sl ol el IS el b ey
e gy Jad) qualia e

1Ly ey o Gl Al Y 58 s
ilias Gl (5 Gl Ui b Loalis (v
e oy

Nalgial ST IS e YY) olaiel) 8 may ol ()
ALY an V) i) o0 Y oy o ¥

—tA

—84



o o (211A) ool B ylxa 5 id
€02 )5 50 patho ] ol 55 Cdd 51« oulb (539)9 (ARl ol i

Lge way 2,V 4y (o8 o slondl oo iy o 5ull 003 LT (e QO

5255 w8l o W cyagts oSles 15 1 of o paly o W1 g elaidl pgis o) T e g (Y

osmand il SLY SIS 3 Tyl alab e oSelit) 5 flg bl oSolie bl e s (F

pmallall SLY (SIS 8 Tl oSyl g oSl S g0 1 5 Slgand] 35 LT e g (F

32 4 el 0T (i3 51 (538 Pl 4y odan 03,95 pnd (anlid (38 9 S (gl 03,150 plod

b3 515 9 595 slagyyl e oLl 03,57 0,5 5 ()

Lis a8 Jo sloaney ol las Lo g ol )| (Y

S5l o a3 ol & 1, Ll &S ool IS g las ol 5l 0,5 L (¥

pol Ll Glee Sglae g S 9w Glasls sl (35 opals (¥

Sl I8y cole galaly gl G g )09, SLT 4 a5 g «Lis (goj9) Wiz (SWj b b3l 9 € SSIogle 4 Juo (o

€Al 0 i [ Y- [ Y— A SO lghe &S

e = Jshea - Jlas (F Jobes - e e (¥ cleocles Jolaa (F Jsbeo Jsbaom e 0
Sl po as g jl cdds (pl A5 Cuwl ! g EMI 50 €yl pmoly (295 Cowly g g liwy yo oud Moy Gl 31 S
00,5 0 S8l H0 i A

ol Lo 258 2l ool sl 5 (¥ aily 59 of e g pols b O

Slom sy Lo 1da a3 e oy Ly oo LB | (F M,J;&Jg}mss;wuwd;\nwy(v

19,1 como (ylogo gyl 8530 50 cdlao plas Wllgy (wlwl

i ) 093 sl g bl s aee (Sin St o Glege ()

igd oo PU e goolgls Jlas 4y (i glacdiad lade s lede (Y
Dgd ol aS wws o lis gl 4y |y Sle e casl ebe ol e a5 (glasl 8 (Y
a3 oo 18 L3 0l wiile oS jo 1 5l w025 (oo 1) (rege gy WgloS (g (F

¥ ST S Wle 30 v 6135 ool € 2 Y1 LS 59l g oueg Lno il aituosdb @ gady i ol 41 a5 b
.oé;@ Y- PO L R3] il o u»‘b..\.tg

Sl Ayl 3959 - Sl - (pite (V S g gl 99,9 - biw) - (L ()

(7£) I o> jaeb Lols g Jae ol p- Lo e (F () oo Coxo e Lolo g Jae oL - Lo 8L (Y
.................. o5 ‘;.cu crvnrrennenns &5 43 19 20 (L wenrnnienns 3O terrirnnnnns ).»b & siwl)l Cole ) a0 llgdon Gamog 9 ylaw 5l
!

b= obb - el bl (Y Lo obl- bl el (O

ol el el b (F obb o yels _ bl jalls (¥

S @l 39 eds S ey 4 a5 Canl llodino Ggw 3 o (saibig 90 plmil 9,5 0 Lol sarls udyw g (5w ol
CU:] PR R S5 ol bles ol ulaws&'sewaw ............. [ Y
S 5l 5 Bgpme o pol - 3l JI gy Bl oo oS3 5 Saall e (ysez 5 Sgymells gyl 5 ()
S5 5 e Do - Saall e s 5 g malls g el g el I gy Bl pSie Sy (¥
S 9 5P Sged - 3l I eeay Ll oS (S - Sl e g 5 Bl (90l 5 (F
P 5l st 9 Bgpre a4 el - Saall e arn 9 Boprell 90l 9 - Bl I ges Tl oS Sy (F
el «bg yino pus plg g BLAI 45 3 40 4:Lo).w uwbél» 4;‘ plas oly
oSSliw oS ¢ ﬁsywu).eww)sl A
ool 5555 bl oSk 5 oS0 el o Lo gl of (Y
o) el L 155 155 315 sl UJMAJI r
UM‘ o~ tj...]jlﬁ d.U‘ 4.‘>9 Uﬁ"b)" alf) U"Qf""""‘ L03 (f
NUY] U Galis b Jogrdo JO g 480L8 g vrnnnnnn & oo ool Cenl (S sakl,y «l.b)b.v» 9 €SBl o
u:.»L.».s‘ 60‘54{&5)5_JJ|J‘».\E| )Lw Ao LQ)L:.:_u.:.LC (\
Cludl (g0lg s 89,9 - Wil Blaal jluase; byls - codias (Y
Fle Glaal s 5y slals - anlails e ase; Slaal - Codias (¥
Fle Slaal g 5y lajls - anlasls sl ave; Slaal - eole (¥

-M

-0y

-0y

-0f

-00

-bf

-0V

-OA

-84



1) axino (211A) ool B lao g Kid 3
poteie (il ol 03,5 Calud g (o loddl) (28 (Oluw B L) pludl € Lush g « Jini» (S 529 99 b (Jlaio (glas 09l axis 51
T oo Cowd a3 LT plas yo o 3l o i

aiild ual ped odl Lol LS Sde WL gub &5 adls s S ael IS ()

~

o o 9 (¥

] Olaary 19;5515;‘,@1&@%@1‘5’4\ s s _6,\5;‘5&:6;;&61@1 s, (fF

Ga b gl b« pdaie jud (Lo (Wbl oSS (o ol sbodhipilae > iaylo 800 45 (L) el (ool )5 polsy oM (1! potio

R TP 3 Sl a3y Caisllao e

sl ple O o o il S50 o ol - dogd Gl Y1 Jgmo) pe i fla g ()

by 2 50 ol 6 Wwgm @ 9 Dsed el po3l - degd Lk VI gy e lla )l Loy (Y
Ol 2 3 o6 Ahwsm guoy 9 Dged el pgil o cuty ool (g g sliy e ! iz Al (Y
il ol 1 5o b pldl S o gl cule ) - oty o adl ot 5 sLis el @l (F

T oo Cowd &

0951y o2 55553l (55 g saball (ypeny il giel (a5 Wgas, 5l (ST Beil - ()

Soellall JHgaSlxiy ol gt LS (o JHIEY! I3l Low liel 0ol Ggoe i il I ol (Y
¥

Sl b (F

JEPIW|

CYV-R ¥ L7 - pla U ogy e, WC’I’ S 4030 Cppbeamndi] (30 cyud0godly Wl Jgl cpo» :64:Loq
S5y e Sl 5L @l Jomo I il b - @iilenlis” sl oS8 S LSO
S5y oo Sl U3t Lo &l oo Il L - Mged 5o S (0 )

oSy gl 5 Jgms ) Tanalol 5 all Tamabol lgzal oyl lgl by — o¥go e ligs o¥go S cye (F

5o oYl Jsl 5 Jouo Jl lgaalol g bl Igalol lgiel pdll el b= (50 g ] QLS (i) oSG8 S6 L (F

SW) g0 wax cwld b ccdal> 09,9 ool lriauasid (i o0l Tg 3l 4 «( L9 pSo! 0 (asls sLaiduw 59,97
fog9 (@) s Jow, cds )y 5l o ‘scl.cu.’ﬂ O 3 Seolas O 3L e i ‘«ob‘l.o.l.m.o s:l.n.»a‘

Q]

g 3] Sepsian - 09 5 s Ja oo i slatel HBcb slag®l el (Y

D95 Wby (S5 Jae CwogS> o - oleiel LB 2 slagSIl japls - 0,51 poly Cuolal lig 5l Coegias (¥

(f

035038 oMel ool o | FY—— 9995 (@) P! ol )5 ol 9 el 00,5 JolS oo, 3529l | Culod Cuoni Wiglas
]

Sl — (@ Jabol 4wl p3alll ey CF - © e el 3l olyasly €

Sl (©) e plel =555 Lyl 5 Lol (F olisla — (£) ool asil 555 sl 5 ol (¥

151 sl i 5 ol 5 Isgdiid Sl oo 25 S (on ¥l SIS Iy, giasell oS o 9 sl p sl & a2 L
Lol e 005 &9 ol )l BB g, calg HKod e duad (40,5 ZoS « O9)@.Wﬁj‘dﬂ'¢rﬁj”9"¢?}

O G SE (e Nl - a3 0 488 ()

(S Gaoe S (e NI - S = (0 gl 625152 (Y

ol oYy 3io0 )0 095 (5 adeby 4 Joo — Sl (o yo ads (V

©Ab oYy i 0 055 (s abebg a4 Jos - Cenl - (3 Jgol 5 1518 (F

RUCSUSPUVY- Iy I VIR COUW] [ as 1y olwdl kg g9 e A5 0,418 Wyg o C I Sl pac jO oMl CawgSs LSULS
las _ans oo Lad o cud (g Vo poye Basw jo 1) ol s sl s, ()

Sl -0 (o0 (LS ‘Ls‘-.‘.{é)y'w‘ poye $85 ) |y (@l p8ol sloj bz, (F

las - a5l elyd sl o3Y jopls Solol lplyaz ol as aes oo cun 1) Jlaie (liebe (V

Cotgr = ke w3 e o3Y eels (Solel sl |, 4z ol a5 wms oo Ceoyd |, latie liege (F

S SaplaS cui i 4« Al VI Al Yy i gaedS g« s bl o 10 oguncld oS3, g () Al b cgdds p gal yo <do
€00, 50 paha g Slay

shos - k- k- (LI (Y S o - ki e ()

S5 hoe — solie - bl (F e - s e s (¥

=1

Al

-$Y¥

-$¥¢

-#0

-5

-y

-#A

-$4



Y amiuo (211A) oSl B, lan 5 Kb 5
§ o Pyt o o (ST IS | S il aod B o8 by o S il a5 U o5 Sip o~V

el Laben ablaels 3ol LSl oS! W3 Ul ()

Ormemoll aad dll Gl g Ll apinagsd Lod loalnddl s (Y

QUa,,.;LJ\ 15_\.,;.'{3! Q| f"ﬂ == L ﬁ,is.ﬂ ..x.g‘.cl p.ll s

crmalieall lsle (yo & Lieill 5 ¢ gl die b pat) SIS (F

S, 9 b oo e [ Y— A olisiel palgi 3l i 3w €53 55 Cadgame? g € closal bd Slolw & b cCaasds o > V)
RUIUV] [N UVWE| DU U3l e buxo Slpg 4 2w sabdlgsoes

gle by 03l g Jeo ol 13 ypmme - llae - (5lhaa &bl O
Blo g sosbl g s 313 )13 jeome - Bllae ol - Bl o (F
a Lo ol Ol o Ll g ool] il oKyl - sl ol = slas > (¥
s bgsye ol Ol s Ll ool ol oyl = glas o> - s sol;T (F
RE B J{PEI TS SCH B | B R JPOS— ol g lisl gculles gaswy -V
oo‘)‘_dué_@lﬁ(f u&S}_).n.\.a.‘_GL:(Y‘ o.)b‘-él.bé-&.:.‘i.o(\‘ VuoS}_)-’M—&—M(\
3 a8y gaduil g ;S 4y oaiws JSb o5 (LS 51 (10,5 595 9 59,51 9 S0 e 4 Cond Jolaie oy cule, -VY
Sl LT pIaS sy a5 A el 1 )
O
b5 e o Lo ilyall 3, e Ll 5 5301 com sl ool 3 (1l 235 6 e 5 (Y
ade Gy dll 1 mlol g aedls am pe Ob ped = Hipe Slodall g ool 3 Il all A e, cpe S8V
ade Cg dll 1 plol 5 Aokl am e b ped = Al e leinad 5 0 el ass U 6 ) ol oSU Se o3] dbl (F

OT )‘)M‘sd‘d‘sodxw ............... ‘5)‘)5){)—920)4') ‘00).0 Q|})l+o45.>5.3~ ................ ‘;CLMQ‘ Jag‘s)gswbw ‘;e\j} uﬂlﬂ)‘ -Y¥
ol 51 51 S e S 54T § oS s Ly cAaslBly 45 5l )9S 50 39 0l

oSosl oS 5 Lllosl L 655, 5 L3, il oSopel) @ pal - cdlas - lslas g Jos ()
oS0lac! oS0 5 Llas! L 65, g L, il oS ol 5= cllas - (s plSy g oo (Y
Sgellall Iyl 5 bl lgael o)l Yomy ol JS' (3 Uity 0 - duomgi = s pliSs 5 ag5 (F
Sl LT plaS ply oy 4 €Jae p Simo Jok 4 Sayg0lo? 9 ol 2,5 T Weed (A pdy 29l plir -V
131 lgal pa il Lol b ()
oS JogY
5 e dllgagis ol sulyy WShael Ll J5 - T oSl Jgmo ! 0950 Glle laged 193653 Uy &l o5 Lazr oSUAST 5 (Y

3l
9 LS‘M 41)‘5&5.0.: u‘ 3 (V
@l

Oyl 5 LS el Sl boo il B g - anged oSle Jsm Il 055 5 ol e clagd Ipsdany Al o Lle SUSST 5 (F
oS JagY



WY amiio (211A) (o30s ) ol 1)

Part A: Grammar and Vocabulary
Directions: Questions 76-85 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase
that best completes the sentence. Then mark your answer sheet.

76-
77-

78-

79-

81-
82-
83-
84-
85-

86-
87-
88-
89-
90-

Keep ----------- until you get to the crossroad and then turn left.

1) go 2) to go 3) going 4) be going
He always listens to the radio ----------- driving his car.

1) while 2) since 3) whether 4) because
We could buy a ----------- blouse from that store.

1) nice blue cotton Korean 2) nice blue Korean cotton

3) blue nice Korean cotton 4) Korean blue cotton nice

A: "Mr. Smith is a great researcher."

B: "He ----------- have done a lot of studies in his life time."

1) must 2) would 3) should 4) might
The water in this area contains a small ---------- of calcium and other minerals.
1) effect 2) amount 3) account 4) function
Our national football team was ----------- from the world Cup last year.

1) reduced 2) recalled 3) followed 4) omitted
Students should set a ----------- time aside to do their homework.

1) mental 2) conscious 3) specific 4) domestic
We don't exactly know what happened; he only gave a/an --------- of the events.
1) mistake 2) density 3) outline 4) article
The Japanese ----------- more than half their waste paper.

1) recycle 2) magnify 3) realize 4) launch
Both of the sisters were very active and ----------- successful in their chosen career.
1) smoothly 2) similarly 3) willingly 4) artificially

Part B: Cloze Test
Directions: Questions 86-90 are related to the following passage. Read the passage and

decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer
sheet.

In many cultures, people think that love and marriage go together — like bread and butter or meat
and potatoes. They think that love is a/an (86) --------- basis for marriage and that you should love
the person you marry before you get married. In other cultures, (87) --------- , aman and woman may
not even know each (88) --------- before their wedding day. Romantic love is not essential to
marriage in these cultures. These people (89) --------- that love will develop after the wedding if the
marriage is a good one. Your (90) --------- on love and marriage come from your culture. Have you
ever thought about that? What are your ideas?

1) previous 2) extreme 3) various 4) necessary
1) whereas 2) however 3) therefore 4) whether

1) others 2) another 3) other 4) one another
1) devote 2) examine 3) provide 4) expect

1) views 2) senses 3) records 4) details
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92-

93-

94-
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Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. The passages are

followed by some questions. Answer the questions by choosing the best choice (1), (2),
(3), or (4). Then mark your answer sheet.

PASSAGE 1:

Astronauts are people who travel in space. The word "astronaut" means "star traveller". The
Russians call such people "cosmonauts". A Russian cosmonaut, Yuri Gagarin, was the first person
to journey into space, travelling once around the Earth on 12 April 1961 in an orbit that lasted about
90 minutes. The first American astronaut to circle the Earth was John Glenn, who made a three-
orbit journey in February 1962.

The early space missions were dangerous, for no one knew at the time how human beings would
bear the stresses of space flight. Today manned space flight has become almost routine. Astronauts
regularly fly into space and are able to remain there for months at a time without suffering
permanent harm. But dangers still exist. Several Russian and United States spacemen have died
over the years. One of the worst disasters was in 1986, when seven United States astronauts died as
their space shuttle Challenger exploded shortly after liftoff.

The early manned spacecraft, such as Mercury, Gemini, and Apollo in the United States and
Vostok in Russia, were small and had restricted crew rooms. Also they could be used only once. The
Russians use relatively small "once-only" craft called Soyuz to carry their cosmonauts to and from
orbit. In orbit, however, the cosmonauts find larger accommodation in a space station known as
Salyut. American astronauts now travel into space in the space shuttle. They fly in a delta-winged
orbiter, which looks much like an airliner.

The passage mainly deals with ------------ .

1) a brief history of space travel

2) risks involved in space travel

3) a comparison between early spaceships and modern ones

4) the competition between Russia and the U.S. in space travel

The first space travel ---------- .

1) was made in one spring in the 20th century

2) took about 90 minutes from and to the Earth

3) was a failed mission in that it involved a one-orbit journey

4) was made by the same person who made the second journey in 1962

According to the passage, it is true that ----------- .

1) even today space missions are not without risks

2) astronauts and cosmonauts represent two different jobs

3) although today astronauts are sometimes hurt, they never die

4) space travel in recent years is as dangerous as it was in the past

All of the following are the names of some spaceships EXCEPT ---------- .

1) Soyuz 2) Mercury 3) Apollo 4) Salyut

It can be understood from the passage that the failure of the spacecraft Challenger is referred
to as the worst space disaster because of ----------- .

1) the expense of building the spaceship 2) its explosion earlier than predicted
3) the number of people who lost their lives ~ 4) its highly important space mission



96-
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PASSAGE 2:

Although all forms of communication have a language, the word usually refers to the use of
written or spoken words.

Human language is the most complicated form of expression available to us. Simply to
understand what you are reading at this very moment involves much intelligence and skill. An adult
speaks on average 30,000 words a day, and a total of 600 million words in an average lifetime.
Language has a profound effect on all our lives.

We learn language from childhood; we learn how to make sounds which can be formed into
words, and discover that we have to apply certain rules of grammar if we are to be understood. We
learn to say "He saw me", but "I saw him". The ways of joining words together into grammatically
acceptable sentences are enormous. If you were to speak aloud all the 20-word sentences that would
make sense in the English language, it would take you ten million years to do so.

When we use words, we are using symbols; the word "elephant" should refer to a large grey
animal with thick skin because speakers of the English language have agreed that this word should
be the symbol for that particular animal.

Sometimes there is disagreement about the meanings of words. Usually these words refer to ideas
or concepts, rather than to things. For instance, not everyone agrees upon the exact meaning of
words such as "freedom", "love", "justice", or "peace". If the sender and the receiver disagree upon
these meanings, communication breaks down. The study of the relationship between language and
meaning is called semantics.

The passage is basically intended to offer ---------- .

1) a definition of spoken communication

2) a description of language

3) a comparison between written and spoken language

4) an explanation of different forms of communication

Which of the following is true, according to paragraph 2?

1) Every individual uses at least 30,000 word per day.

2) Intelligence and skill are two parts of human language.

3) The total number of words in most human languages is about 600 million.

4) Far from being simple, what humans use to communicate is so complex.

The last sentence in paragraph 3 "If you were to speak ... ten million years to do so," is
intended to prove that ---------- .

1) language took a long time to develop into a complicated form

2) language has the potential to produce so many sentences

3) one can say different things through the same words

4) if one uses 20-word-long sentences all the time one would fail to communicate

The writer refers to all of the following words about whose meaning there may sometimes
be disagreement EXCEPT ----------- .

1) peace 2) justice 3) freedom 4) elephant

With which of the following conclusions does the write seem more likely to agree?

1) We need to make human language more simple.

2) Overuse of words may lead to communication failure.

3) There is not necessarily a natural relationship between words and meanings.

4) People should study semantics if they want their sentences to be grammatically correct.



